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ECONOMICS (E) (022)

Zeel\[o]VI[eS} |BOARD QUESTION PAPER-7| [EIEUCCICIYE

Time : 3 Hours

AUGUST 2020 .

Total Marks : 100

Instructions: (1) This question paper consists of five sections and total 63 questions.

. (2) Read the questions carefully and answer the questions as per instructions.
(3) Figures to the right side indicates full marks of the question.
(4) Start a new section on new page.

10.

(A) Raj Krishna

SECTION-A

Select and write the correct alternative (A, B, C, D) from the options
given below from questions 1 to 10. Each question carries 1 mark : 10

What was India’s ranking in the World according to th¢ Human Development
Index in 2014 ? '

(A) 127 B) 128 ©) 129 D) 130

Who gave the definition “What is accepted universally in exchange of goods and
services is money”?

(A) Marshall '(B) Keynes (C) Pigou (D) Robertson

What is the rate at which the RBI borrow funds for very short term from the
commercial banks is called?

(A) Repo rate

(C) Reverse repo rate

(B) Bank rate

(D) Open market rate

What is the percentage of malnourished people in India in 2014-2016?
(A) 23.7 (B) 15.2 (©) 11.2 D) 205

In which type of unemployment labour has zero marginal produétivity?
(A) Cyclical ' _ (B) Frictional -

(C) Disguised (D) Underemployment

Who presented four- measuring rods of measuring types of unemployment?
(B) Mahalnobis  (C) Keynes (D) Rodan

How much was the female population per 1000 male population in India in 2011?
(A) 930 (B) 950 (C) 940 (D) 970

In today’s time which factor of production is the most mobile in international
trade? ’

(A) Capital (B) Labour
In which year was 'ONGC setup? _
(A) in 1947 (B) in 1951 (C) in 1955 (D) in 1959
Generally which countries are related with fhe concept of economic growth?
(B) Developed  (C) Backward '(D), Third World

(C) Entrepreneurship (D) Land

(A) Developing
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SECTION-B
. All the questions from 11 to 20 should be answered in one-two sentences
each. Each question carries 1 mark: B 10
11. What. is meant by a pie diagram?
12.> What is per capita income? .
13. Give tie meaning of monetary policy.
14. Write the equation of credit creation.
15. What is meant by Relative poverty?
16. Write full name of “MGNREGA”
17. Which age-group is knoWn as a productive age-group?
18. What is meant by child mortality rate?
'19. Explain méanihg of 'cottage industries.
20. What is meant by urbanisation?
SECTION-C
. Answer the following questions from 21 to 34 in brief: Each question
carries 2 marks : ‘ v 28]
21. What is meant by a bar diagram? Give types of bar diagram.
22. What is meant by a diagram and for what purpoée it is drawn?
23. Which factors are included in the Human Development Index?
24. State the determinants included in the Physicai Quﬁlity of Life? (Any Four).
25. Which are the characteristics of Inflation?
26. Give types of deposits accepted by Commercial Banks.
27. When did the “Jan Dhan Yojana begin?” What is the main feature of thls scheme?
' OR
State the list of self employment programme implemented by gdvemment.
28; Define “Cyclical Unemployment” with example. »
What is meant by “Frictional Unemployment”? In which countries there exists,
frictional unemployment.
29. Explain the types of crops in agriculture sector with an appropriaté example.
30. Explain meaning of “Full unemployment”.
31. What is meant by “Balance of Trade” and “Balance of Payment”?.
32. Which are the main feasOns for International Trade?
33. State types of industries on the basis of investment size.
34. When the Special Economic Zones (SEZ) was implemented? State the main

purpose of SEZ.
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35.
36.
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44.
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SECTION-D

Answer the following questions from 35 to 43 to the point. _
Each question carries 3 marks : 27

Give the caution areas in using computer and internet technologies for studying.
State the difference between Economic growth and Economic development (Any
six points). _

State the difference between a Commercial bank and a Central Bank.

“Defective education system is responsible for unemployment”. Explain the
statement. ' : -

- Give the meaning of Birth-rate. State the causes for high birth-rate.

Discuss any three points to prove importance of agriculture.

Specify the difference between current account and capital account of balance of
payments.

OR
Write a note on “Exchange rate”.
Explain Any three points about importance of industry.
Explain any three points about positive effects of urbanisation.
OR

- Give the meaning of migration. Discuss the negative effects of migration.

SECTION-E

Answer the following questions from 44 to 48 in detail. _
Each question carries 5 marks : : 0 [25]

Define barter system and explain limitations of barter system.
' » OR

Define money and explain the functions of money.
Explain the measures to reduce poverty in India. (Any Five).

" » , OR
What is poverty? Explain any five indicators of poverty.
Explain the reasons for low productivity in Agriculture.
Explain in brief, the measures to reduce the problems of urbanisation.

On the basis of the number of males and females of the total population in
different years in India, analyse the following data in a clustered bar diagram:

Male-Female Ratio in Total Population of India

Year Male population Female population
(in crores) (in crores)

1951 18.55 17.56

1991 - 4392 40.71

2011 62.37 _ 58.65
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